Solving Equations with Powers & Roots

| sol (O\-)CI.'—’—*-'-?) (b)o(.=:.“3.5
§<a> x?=9 (b)) x?2=1225 (e) <= +R  (d) oc=<
© £ost @ Lo (e)oc=3 (F)x=-2
(&) 27=x* () x°=-8
Solve <q) oC = /\6 (b) x= 16
@) Vvx=4 (b)) JVx=-4 (c.) - 81 (d} S~ D
© 9=vx (&) Vx=3
(e Vx=-2 (f) 3Yx=75 (6) o= —8 ('F) OC=4~1\ %15
Solve (QB :)Q—:.__'t4—
(a) 104+ x* =26 N
(b)  x%—24 =120 (b) o=\
(c) x3—3=24 (c) oc=3
(d) 18+x*=10 (d) ~Y~=-2
(e) 2x*-5=13 (e> ~= =+ 3
e inintag (£) =% 2
X 4 = i
(9) o (S) - ,\
(h)y 1—-2x>=129 4
() = -
Solve
(@) 8+yx=11 (o) :vc,-—-q3Lk5
(b) Yx—5=2 () = -
() 4x+25=5 () oc=2
(d) 47 -3¥x=17 (o\) oc = 1000
(€) 6=3Vx—15 (e) = 625

iGiven that the area of the shape shown is 3x2+ 33 = \D%
2
108 cm*, form an - 3 :2-= 75

| equation in x and 2.
use it to find the 3 om e =B )_5
S

—,

value of x.

3x cm
wo 11

buk x>0 so X=5




